
 

RedOxy
Oxidation Reduction

Olddefini Limited to carbon oxygen

oxidation gain of oxygen
or loss of hydrogen

city 2oz Coz t 2h20

oxidation

Reduction gain hydrogen or loss
of oxygen

EI
City t 2oz Coz t 2H2O

TbroadDefinition

Oxidation The loss of e

Reduction Gram of e

Exidation Is Loss Oil

Reduction Is Gain Rig



We need a book keeping system for e

Book keep system Oxidation number

Rutassigningoxidation numbers

All elements in their elemental
state

have oxidation number 0

Na ab NE OE HE Soo

The oxidation number on a monatomic ion

is the same as the charge state
6

ox

EI I 4 3 2

Nat Pb µ j Cra charges

oxidation II Charge then value 6

Charge state value then charge Gt

Combined hydrogen CCovalenthydrogen
1

is always I CH4

Combined Oxygen Covalent oxygen is

always 2 except peroxideC o o

where peroxideoxygen is I
Z l L
coz H o o H



Combined Fluorine covalent fluorine
is always I

I
CFy

The sum of the oxidation numbers

in a covalent compound must add
to

0 Zero or for a polyatomic icon
the sum

must be equal to the charge state
on

the poly atomic ions

y

oxidation
EX s
7 I C t 4 F 0 CFCF 44 Ct 4C D 0

C 4 o

C t 4

t1
CH Ct 44 0 4 te

C t4417 0 City
C t 4 0
C 4

1g
Ox

t t't t e charge

Na not Na Na state



Redox Ross
combustion ftp.z t 0 E'Oa t H2o

SingleReplace.me ol l tz I

Li t ZHU In Cbt Hz

Combination DecompositionCFrequently but

A TB C comb.ua
mnotpdefoaxys

A B t C Decomposition



PolyatomicExamplet2 Charge state

7043 phosphate

Pt 40 36
Charge state

ox S Charge

L d f state
Pt 4 f 2 3 5 2 3

P 8 3 704
D t 5 Pt 40

so
ox s charge

St 40 Z 12 g
state

6 2
2

St 4G2 2 Soy
S 8 2

S the

chargestate

molecule covalent
f chargestate

Polyatomic



Covalent so dipolemomentCharges St I fd
C F C i F

EN 2.5 4 O O
E FL

ox s 1 I i

allow
fortracking C

F
whenthere
are nocharges

Reduction
fAddingotydngenetossofoxygenReduction is gain e

oxidation
Adding Oxygen to

Carbon loss of hydrogen
oxidase

0 1 22 4O O4 H Il H CIO
CH H G o H H C H H C o H

H Carbon
methane methanol formaldehyde foraffa dioxide

t1 2

CAYO
Ct 4 l t f 2 o

C 4 2 0

C 2 0

C z



7 t1 Z z 1 Z
o o

2GHz t 7oz 4 coz t 6h20

Ct 20 02C t 64 0

2C t 6 H O C t 2622 0

C 4 0
2C 1 6 0

2C 6 C 4

C 3

Reduction half Reaction

OiseganedehasbeeniReduced
3 t1 4 z 1 2

2GHz t 7oz 4 coz t 6 H2O

foxidatimhalfi
Carbon has lost e and
has been oxidized

02 is oxygen in it's elemental
state is diatomic

z
O 0 Oz
oxygen oxide oxygen
atom in gas
a

does not
exist in nature
as a single atom



HOFBRINCI or BRING HOF
In elemental state

Hz Oz Fz Bz Iz Na Cla
gens

He
Br Na
I
Reductiond free.SE

O
I I

2 Na t Cla 2 Hacks
Loxidatsoxidation Nat CT

HalfReactions gloss
as product

Na Nat t e oxidation half Ren

CIz t 2e 2 Cl reduction half Ren
a

gain as
J

reactant



Balancing Redox done by half Ran

2 Na 2Nat 2e

Chet 2E Il

Z Na t CI z t 2 2 Nat t 2 Ci t 2

2
l

Balanced

TE t 2 TE t
5

30 50

25 bikess



Terminology
Reduction

lo FI I

2 Na t Ck 2 NaCl

Loxia
es
tf species being oxidized Na metal
NE
species being reduced Ck Sas

Oxidizing Agent reagent Ck gas
Thespecies causing the sodium
to be oxidised

Redusing Agent reagent
Na metal

the species causing the

Clz to be reduced

H Cl t Itzo Ago t CT
Conjacid conj baseAcid Base



Check to see if Redox

Looking for Changes in ox

I Z I
I I I 2

HCl t H2O Ago t CT

Ata 0 No changes in oxidation
I ta O not a Redox Ren

Cl 1

Acid Base is the trading of Ht proton

Redox is the trading of e

Acid Base

HCzHsQ t Nattcoz alacaltzQ t HzC0z
Base Salt Carbonic

acetic sodium acid
acid bicarbonate

vinegar is Baking Soda
5 bymass
acetic acid

I 2 4 2I 4 2 not Redox
HaCO Hz t CO2 but

decomposition



2 ti t C t 3 2 O

Z t C Le O

C 4 O

C t 4

I HCzHsQ t INAHcoz alacaltzQ t HzC0z

7 5.62 g
o

5 by mass

Road map mice

1NAHcoz molesNaHeo moleHCzHsQ gAGHA
g d

gvinegars
fdensity

mLVinegar



Acid Base
Conjugated

HCzHzOz t ACO CHIE t HzC0z

Acid Base

jBase


